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1. The foreign direct investment

includes :

(A) Intellectual Properties

(B) Human Resources

(C) Tangible Goods

(D) Intangible Goods

2. The treaty of Rome ws signed in the

year :

(A) 1959 (B) 1957

(C) 1956 (D) 1955

3. What is it called when a country is

specialized in a particular goods and

then it trades the goods with other

countries ?

(A) Agreement

(B) Interdependence

(C) Correlation

(D) Dependence

4. Anti-dumping duties applied to

imported goods :

(A) are abolished by the WTO

(B) result in decreases in

consumer surplus for domestic

households

(C) are imposed by industrial

countries but not developing

countries

(D) result in lower priced goods

for domestic consumers

1. izR;{k fons'kh fuos'k esa ------- 'kkfey

gSA

(A) ckSf)d xq.k

(B) ekuo lalk/ku

(C) ewrZ lkeku

(D) vewrZ lkeku

2. jkse dh laf/k ij o"kZ ------- esa gLrk{kj fd,

x, FksA

(A) 1959 (B) 1957

(C) 1956 (D) 1955

3. bls D;k dgk tkrk gS tc dksbZ ns'k fdlh

fo'ks"k oLrq esa fof'k"V gksrk gS vkSj fQj

og vU; ns'kksa ds lkFk vPNk O;kikj djrk

gS \

(A) le>kSrk

(B) vU;ksU;kJ;

(C) lglEcU/k

(D) fuHkZjrk

4. vk;kfrr eky ij ykxw Ma fiax&jk s/ kh

'kqYd %

(A) fo'o O;kikj laxBu }kjk lekIr

dj fn;k x;k gS

(B) ?kjsyw ifjokjksa ds fy, miHkksDrk

vf/k'ks"k esa deh dk ifj.kke

(C) vkS|ksfxd ns'kksa }kjk yxk;k tkrk gS

ysfdu fodkl'khy ns'kksa }kjk ugha

(D) ?kjsyw miHkksDrkvksa ds fy, de dher

okys lkeku esa ifj.kke

[P.T.O.]
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5. An agreement on Technical Barriers to

Trade was negotiated in (1979 TBT

Agreement or Standards Code) :

(A) Uruguay Round

(B) Geneva Round

(C) Kennedy Round

(D) Tokyo Round

6. Which of the following is an extra

charge under a marine cargo policy ?

(A) Reconditioning cost incurred

at an intermediary port

(B) Salvage charges

(C) Sue and labour charges

(D) Port charges

7. Overseas transit policy comes to an

end :

(A) 30 days after landing at the port

(B) 45 days after landing at the port

(C) 60 days after landing at the port

(D) 90 days after landing at the port

8. In marine insurance parlance 'average'

means :

(A) Premium

(B) Cost

(C) Freight

(D) Loss

5. O;kikj ds fy, rduhdh ck/kkvksa ij ,d
le>kSrs ij ckrphr dh xbZ Fkh ¼1979
VhchVh le>kSrk ;k ekud dksM½ %

(A) m#Xos jkmaM

(B) ftusok jkmaM

(C) dSusMh jkmaM

(D) VksD;ks jkmaM

6. leqnzh dkxksZ uhfr ds rgr fuEufyf[kr esa ls

dkSu&lk ,d vfrfjDr 'kqYd gS \

(A) e/;LFk canjxkg ij [kpZ dh xbZ

ejEer dh ykxr

(B) cpko 'kqYd

(C) eqdnek vkSj Je 'kqYd

(D) iksVZ 'kqYd

7. fons'kh ikjxeu uhfr lekIr gksrh gS %

(A) canjxkg ij mrjus ds 30 fnu ckn

(B) canjxkg ij mrjus ds 45 fnu ckn

(C) canjxkg ij mrjus ds 60 fnu ckn

(D) canjxkg ij mrjus ds 90 fnu ckn

8. leqnzh chek dh Hkk"kk esa] ^vkSlr* lk/ku %

(A) izhfe;e

(B) ykxr

(C) eky <qykbZ

(D) gkfu
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9. A vertical foreign direct investment

(FDI) is :

(A) Breaking up the production

chain and parts being

transferred to the affiliated

location

(B) Mainly driven by production

cost differences between

countries

(C) Both (A) and (B)

(D) None of the above

10. Which of the following is not a benefit

of International trade ?

(A) High wage levels for all

domestic workers

(B) Lower domestic prices

(C) Development of more efficient

methods and new products

(D) A greater range of consumption

choices

11. A  horizontal foreign direct investment

(FDI) is :

(A) Starting a similar production

process (by the parent firm)

elsewhere in the world

(B) Locating a production near a

firm's large customer base

(C) Both (A) and (B)

(D) None of the above

9. ,d Å/okZ/kj izR;{k fons'kh fuos'k ¼,QMhvkbZ½

gS %

(A) mRiknu Ja[kyk dks rksM+uk vkSj Hkkxksa

dks lEc) LFkku ij LFkkukUrfjr

djuk

(B) eq[; :i ls ns'kksa ds chp mRiknu

ykxr ds vUrj ls izsfjr gS

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

10. fuEufyf[kr esa ls D;k vUrjkZ"Vªh; O;kikj dk

ykHk ugha gS \

(A) lHkh ?kjsyw dkexkjksa ds fy, mPp

osru Lrj

(B) de ?kjsyw dhersa

(C) vf/kd dq'ky rjhdksa vkSj u, mRiknksa

dk fodkl

(D) miHkksx fodYiksa dh ,d foLr̀r Ja[kyk

11. ,d {kSfrt izR;{k fons'kh fuos'k gS %

(A) nqfu;k esa dgha vkSj ,d leku

mRiknu izfØ;k ¼ewy QeZ }kjk½ 'kq:

djuk

(B) ,d QeZ ds cM+s xzkgd vk/kkj ds

ikl mRiknu dk irk yxkuk

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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12. It helps countries to meet deficit in

balance of payments :

(A) IMF

(B) WTO

(C) World Bank

(D) UNO

13. A source of supply of foreign exchange

is :

(A) Imports

(B) Exports

(C) Donations

(D) Gifts

14. The responsibility of administration of

FEMA is vested with :

(A) RBI

(B) National Banks

(C) State Governments

(D) Central Government

15. Who determines foreign exchange

rates in India ?

(A) RBI

(B) SEBI

(C) Finance Ministry of India

(D) Market forces of demand and

supply

12. ;g ns'kksa dks Hkqxrku larqyu esa ?kkVs dks iwjk

djus esa enn djrk gS %

(A) vkbZ ,e ,Q

(B) fo'o O;kikj laxBu

(C) fo'o cSad

(D) ;w ,u vks

13. fons'kh eqnzk dh vkiwfrZ dk ,d lzksr gS %

(A) vk;kr

(B) fu;kZr

(C) nku

(D) migkj

14. Qsek ds iz'kklu dh ft+Eesnkjh fufgr gS %

(A) Hkkjrh; fjt+oZ cSad

(B) jk"Vªh; cSad

(C) jkT; ljdkjsa

(D) dsUnzh; ljdkj

15. Hkkjr esa fons'kh fofue; njksa dk fu/kkZj.k

dkSu djrk gS \

(A) Hkkjrh; fjt+oZ cSad

(B) lsch

(C) Hkkjr dk foRr ea=ky;

(D) ekax vkSj vkiwfrZ dh ckt+kj rkdrsa
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16. What does 'P' denote in FDI ?

(A) Periodic

(B) Potential

(C) Productive

(D) Portfolio

17. When the FDI is allowed without prior

approval by Government or Reserve

Bank of India, it is known as :

(A) Automatic Route

(B) Involuntary Route

(C) Reflex Route

(D) Non-approval Route

18. The flow of FDI refers to :

(A) The amount of FDI undertaken

over a given time period

(B) The total accumulated value of

foreign owned assets at a given

time

(C) The flow of FDI out of a

country

(D) The flow of FDI into a country

16. ,QMhvkbZ esa ^ih* D;k n'kkZrk gS \

(A) vkof/kd

(B) laHkkfor

(C) mRiknd

(D) iksVZQksfy;ks

17. tc ljdkj }kjk ;k Hkkjrh; fjt+oZ cSad }kjk

iwoZ vuqeksnu ds fcuk ,QMhvkbZ dh vuqefr

nh tkrh gS] rks bls -------- ds :i esa tkuk

tkrk gSA

(A) Lopkfyr ekxZ

(B) vuSfPNd ekxZ

(C) iYVk ekxZ

(D) vuqeksnu ekxZ

18. ,QMhvkbZ dk izokg lanfHkZr djrk gS %

(A) ,d fuf'pr le; vof/k esa fd,

x, ,QMhvkbZ dh jkf'k

(B) ,d fuf'pr le; esa fons'kh LokfeRo

okyh lEifRr dk dqy lafpr ewY;

(C) fdlh ns'k ls ,QMhvkbZ dk izokg

(D) fdlh ns'k esa ,QMhvkbZ dk izokg

[P.T.O.]



10002-B/55 (  8  )

19. In Overseas Transit Claim, the proof

of shipment is :

(A) Bill of Lading

(B) Bill of Exchange

(C) Bill of Treasury

(D) None of the above

20. In marine hull policy, the subject

matter for insurance is :

(A) Hull and machinery

(B) Freight and disbursement

(C) Premium reducing

(D) All of the above

21. A marine insurance is a contract of :

(A) Increment

(B) Indemnity

(C) Maturity

(D) None of the above

22. ...........offers the exporter the greater

level of safety.

(A) Cash in advance

(B) Letter of credit

(C) Wire transfer

(D) UPI

19. fons'kh Vªkaft+V nkos esa] f'kiesaV dk izek.k

gS %

(A) fcy vkWQ ySfMax

(B) fofue; dk fcy

(C) Vªst+jh dk fcy

(D) mijksDr esa ls dksbZ ugha

20. leqnzh gy ikWfylh esa] chek ds fy, fo"k;&oLrq

gS %

(A) gy vkSj e'khujh

(B) eky <qykbZ vkSj laforj.k

(C) izhfe;e de djuk

(D) mijksDr lHkh

21. leqnzh chek ,d vuqcU/k gS %

(A) osru o`f) dk

(B) gkfu ls lqj{kk dk

(C) ifjiDork dk

(D) mijksDr esa ls dksbZ ugha

22. ----------fu;kZrd dks lqj{kk dk vf/kd ls

vf/kd Lrj iznku djrk gSA

(A) vfxze udnh

(B) lk[k i=

(C) rkj LFkkukarj.k

(D) ;w ih vkbZ
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23. What determines the pattern of

specialization and trade in industry

with external economies of scale ?

(A) Product differentiation

(B) Monopolistic competition

(C) Historical contingency

(D) None of the above

24. BOP stands for :

(A) Bank of Payments

(B) Barrier of Payments

(C) Bill of Payments

(D) Balance of Payments

25. The ..........is composed of capital

account and current account.

(A) Bill of Credit

(B) Barrier of Payments

(C) Bill of Payments

(D) Balance of Payments

26. .......... happens when exports are more

than imports.

(A) Trade barrier

(B) Trade deficit

(C) Trade surplus

(D) Trade contract

23. iSekus dh ckgjh vFkZO;oLFkkvksa okys mn~;ksxksa

esa fo'ks"kKrk vkSj O;kikj dk iSVuZ D;k

fu/kkZfjr djrk gS \

(A) mRikn HksnHkko

(B) ,dkf/kdkj izfr;ksfxrk

(C) ,sfrgkfld vkdfLedrk

(D) mijksDr esa ls dksbZ ugha

24. ch-vks-ih- dk vFkZ gS %

(A) cSad vkWQ isesaV~l

(B) Hkqxrku dh ck/kk

(C) Hkqxrku dk fcy

(D) Hkqxrku larqyu

25. ------------- iwath [kkrs vkSj pkyw [kkrs ls

cuk gSA

(A) ØsfMV dk fcy

(B) Hkqxrku dh ck/kk

(C) Hkqxrku dk fcy

(D) Hkqxrku larqyu

26. -------- rc gksrk gS tc fu;kZr vk;kr ls

vf/kd gksrk gSA

(A) O;kikj ck/kk

(B) O;kikj ?kkVk

(C) O;kikj vf/k'ks"k

(D) O;kikj vuqcU/k

[P.T.O.]



10002-B/55 (  10  )

27. Who regulates foreign trade in India ?

(A) SEBI

(B) RBI

(C) DGFT

(D) FEDAI

28. Tax on imports can be treated as :

(A) Foreign trade

(B) Collateral trade

(C) Trade barriers

(D) Terms of trade

29. Which one of the following marine

cargo policy is not assignable ?

(A) Marine cargo specific policy

(B) Certificate issued under open

cover

(C) Certificate issued made open

policy

(D) Annual policy

30. CIF contract means :

(A) Co-insurance form

(B) Cost input freight

(C) Cost insurance freight

(D) Cost incidental freight

27. Hkkjr esa fons'kh O;kikj dk fu;eu fdlus
fd;k \

(A) lsch

(B) Hkkjrh; fjt+oZ cSad

(C) fons'kh O;kikj funs'kky;

(D) QsMkbZ

28. vk;kr ij dj dks bl izdkj ekuk tk ldrk

gS %

(A) fons'kh O;kikj

(B) laikf'oZd O;kikj

(C) O;kikj esa :dkoVsa ¼ck/kk½

(D) O;kikj dh 'krsZa

29. fuEufyf[kr esa ls dkSu&lh leqnzh dkxksZ uhfr

vlkbu djus ;ksX; ugha gS \

(A) leqnh dkxksZ fof'k"V uhfr

(B) [kqys doj ds rgr tkjh izek.k i=

(C) tkjh fd;s x;s izek.k esa cuh [kqyh

uhfr

(D) okf"kZd uhfr

30. lh-vkbZ-,Q- vuqcU/k dk vFkZ gS %

(A) lg&chek izi=

(B) ykxr buiqV ÝsV

(C) ykxr chek HkkM+k

(D) vkdfLed HkkM+k ykxr
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31. Market in which currencies buy and

sell and their prices settle on is called

the :

(A) International bond market

(B) International capital market

(C) Foreign exchange market

(D) Eurocurrency market

32. ........... is the nodal department for

formation of the policy on foreign

direct investment (FDI).

(A) RBI

(B) NABARD

(C) Department for promotion of

Industry and Internal trade

(D) SEBI

33. FDI stands for :

(A) Foreign Direct Investment

(B) Foreign Development Index

(C) Federal Department of

Investment

(D) Federal Department of

Investigation

34. What is the permissible limit for FDI

in retail through unrestricted routes in

India ?

(A) 49%

(B) 50%

(C) 75%

(D) 100%

31. ckt+kj ftlesa eqnzk,¡ [kjhnh&fcØh djrh gSa

vkSj mudh dhersa fLFkj gksrh gSa] dgykrh

gSa %

(A) vUrjkZ"Vªh; ckWUM ckt+kj

(B) vUrjkZ"Vªh; iwath ckt+kj

(C) fons'kh eqnzk ckt+kj

(D) ;wjks eqnzk ckt+kj

32. -------izR;{k fons'kh fuos'k ¼,QMhvkbZ½

ij uhfr rS;kj djus ds fy, uksMy foHkkx

gSA

(A) Hkkjrh; fjt+oZ cSad

(B) ukckMZ

(C) m|ksx vkSj vkarfjd O;kikj dks c<+kok

nsus ds fy, foHkkx

(D) lsch

33. ,Q Mh vkbZ dk vFkZ gS %

(A) izR;{k fons'kh fuos'k

(B) fons'kh fodkl lwpdkad

(C) la?kh; fuos'k foHkkx

(D) la?kh; tk¡p foHkkx

34. Hkkjr esa vizfrcaf/kr ekxksZa ls fjVsy {ks= esa

izR;{k fons'kh fuos'k ds fy, vuqer lhek

D;k gS \

(A) 49%

(B) 50%

(C) 75%

(D) 100%

[P.T.O.]
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35. When one country provides most

favoured nation status (normal trade

relations) for another, it agrees to :

(A) charge the nation's products a

lower tariff than any other

nation

(B) charge that nation's products a

tariff rate no higher than that

on any other nation

(C) charge that nation's products

very high tariff

(D) exports to the nation any

products that it wants to

purchase

36. The effect of most favoured nation

clause is to :

(A) Eliminate all tariffs between

countries

(B) Increase all tariffs between

countries

(C) maintain a non-discriminatory

structure of tariffs

(D) maintain a discriminatory

structure of tariffs

37. Full form of TRIMS is :

(A) Trade related Investment

measures

(B) Trade related Investment

mechanism

(C) Trade regulation and

Investment mechanism

(D) None of the above

35. tc ,d ns'k nwljs ns'k ds fy, eksLV QsoMZ

us'ku dk ntkZ ¼lkekU; O;kikj lEcU/k½ iznku

djrk gS] rks og lger gksrk gS %

(A) ns'k ds mRiknksa dks vU; ns'k dh

rqyuk esa de pktZ djuk

(B) ml ns'k ds mRiknksa ij fdlh vU;

ns'k dh rqyuk esa vf/kd 'kqYd ugha

olwyuk

(C) ml ns'k ds mRiknksa ij fdlh vU;

ns'k ds mRiknksa dh rqyuk esa vf/kd

'kqYd yxkuk

(D) ml ns'k dks fdlh Hkh mRikn dk

fu;kZr djrk gS ftls og [kjhnuk

pkgrk gS

36. eksLV QsoMZ us'ku [k.M dk izHkko D;k gS \

(A) ns'kksa ds chp lHkh 'kqYdksa dks lekIr

djuk

(B) ns'kksa ds chp lHkh 'kqYd c<+kuk

(C) VSfjQ dh ,d xSj&HksnHkkoiw.kZ lajpuk

cuk, j[kuk

(D) VSfjQ dk HksnHkkoiw.kZ <+kapk cuk,

j[kuk

37. fVªEl dk iw.kZ :i gS %

(A) O;kikj lEcfU/k fuos'k mik;

(B) O;kikj lEcfU/kr fuos'k ra=

(C) O;kij fofu;eu vkSj fuos'k ra=

(D) mijksDr esa ls dksbZ ugha
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38. ..........happens when imports are more

than exports.

(A) Trade barrier

(B) Trade deficit

(C) Trade surplus

(D) Trade contract

39. Which one of the following policy is

about exports and imports ?

(A) Fiscal Policy

(B) Monetary Policy

(C) Commercial Policy

(D) Both (A) and (B)

40. The OECD stands for :

(A) Organization for Economic

Co-operation and

Development

(B) Organisation for Economic

Co-ordination and

Development

(C) Organisation for

Environmental Co-operation

and Development

(D) Organisation for

Environmental Control and

Development

38. -------rc gksrk gS tc vk;kr fu;kZr ls

vf/kd gksrk gSA

(A) O;kikj ck/kk

(B) O;kikj ?kkVk

(C) O;kikj vf/k'ks"k

(D) O;kikj vuqcU/k

39. fu;kZr vkSj vk;kr ds ckjs esa fuEufyf[kr esa

ls ,d uhfr dkSu&lh gS \

(A) jktdks"kh; uhfr

(B) ekSfnzd uhfr

(C) okf.kfT;d uhfr

(D) nksuksa (A) vkSj (B)

40. vks bZ lh Mh dk vFkZ gS %

(A) vkfFkZd lg;ksx vkSj fodkl laxBu

(B) vkfFkZd leUo; vkSj fodkl laxBu

(C) i;kZoj.k lg;ksx vkSj fodkl ds

fy, laxBu

(D) i;kZoj.k fu;a=.k vkSj fodkl laxBu

[P.T.O.]
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41. FAS stands for :

(A) Free after shipment

(B) Free alongside ship

(C) Free after boarding

(D) Freight and shipping

42. Which of the following kinds of

International contracts includes

insurance as well ?

(A) FAS

(B) FAB

(C) CFR

(D) CIF

43. The incoterms that indicates that the

consignor (shipper) pays all charges

until the time the cargo arrives at the

premises of the consignee is :

(A) FOB

(B) FAS

(C) FIO

(D) CIF

44. The IMO Convention that covers the

legal aspects of Bill of Lading is called

the :

(A) Bill of Lading Convention

(B) Bill of Lading Code

(C) Carriage of Goods by Sea

Convention

(D) Sea Transport Convention

41. ,Q , ,l dk vFkZ gS %

(A) f'kiesaV ds ckn fu%'kqYd

(B) tgkt+ ds lkFk eqDr

(C) cksfMZax ds ckn Ýh

(D) eky <qykbZ vkSj f'kfiax

42. fuEufyf[kr esa ls fdl izdkj ds vUrjkZ"Vªh;

vuqca/kksa esa chek 'kkfey gS \

(A) ,Q , ,l

(B) ,Q , ch

(C) lh ,Q vkj

(D) lh vkbZ ,Q

43. budksVElZ tks bafxr djrk gS fd dalkbuj

¼f'kij½ eky okgd ds ifjlj esa vkus rd

lHkh 'kqYdksa dk Hkqxrku djrk gS %

(A) ,Q vks ch

(B) ,Q , ,l

(C) ,Q vkbZ vks

(D) lh vkbZ ,Q

44. vkbZ ,e vks dUosa'ku tks fcy vkWQ ySfMax ds

dkuwuh igyqvksa dks 'kkfey djrk gS] dgykrk

gS %

(A) fcy vkWQ ySfMax dUosU'ku

(B) fcy vkWQ ySfMax dksM

(C) leqnz }kjk eky dh <qykbZ dUosU'ku

(D) leqnzh ifjogu lEesyu



10002-B/55 (  15  )

45. ...........maintains the foreign exchange

reserves in India.

(A) State Bank of India

(B) Reserve Bank of India

(C) Finance Ministry of India

(D) Exim Bank

46. More expansion of foreign direct

investment can boost :

(A) Money circulation

(B) Demand

(C) Employment

(D) Unemployment

47. When a firm undertakes Foreign

Direct Investment it becomes :

(A) A Multinational Enterprise

(MNE)

(B) A Transnational Corporation

(C) An International Company

(D) More diverse

48. The funds based outside India and

authorised by SEBI to invest in Indian

equity market through the stock

exchange are called :

(A) Non-Resident Funds

(B) Overseas Corporate Bodies

(C) Foreign Institutional Investors

(D) None of the above

45. ------- Hkkjr esa fons'kh eqnzk Hk.Mkj j[krk

gSA

(A) Hkkjrh; LVsV cSad

(B) Hkkjrh; fjt+oZ cSad

(C) Hkkjrh; foRr ea=ky;

(D) ,fDt+e cSad

46. izR;{k fons'kh fuos'k dk vf/kd foLrkj ----

dks c<+kok ns ldrk gSA

(A) euh ldqZys'ku

(B) ekax

(C) jkst+xkj

(D) csjkst+xkjh

47. tc dksbZ QeZ izR;{k fons'kh fuos'k ¼,QMhvkbZ½

djrh gS] rks og cu tkrh gS %

(A) ,d cgqjk"Vªh; bUVjizkbt+

(B) ,d vUrjkZ"Vªh; fuxe

(C) ,d vUrjkZ"Vªh; dEiuh

(D) vf/kd fofo/k

48. Hkkjr ds ckgj fLFkr vkSj lsch }kjk LVkWd

,Dlpsat ds ek/;e ls Hkkjrh; bfDoVh ckt+kj

esa fuos'k djus ds fy, vf/kd`r QaM dks

------- dgk tkrk gSA

(A) vfuoklh fuf/k

(B) fons'kh dkWiksZjsV fudk;

(C) fons'kh laLFkkxr fuos'kd

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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49. .......... is the first step in the

internationalization process.

(A) License

(B) Foreign Investment

(C) Sales

(D) Export

50. International Capital Market :

(A) limits available set of lending

opportunities

(B) increases overall portfolio risk

for investors

(C) allows investors to reduce risk

by holding international

securities whose price move

independently

(D) is easily accessible to

everyone

51. Global bond market consists of all

bonds sold or issued by companies,

government or other firms :

(A) Within their own countries

(B) Outside their own countries

(C) To London banks

(D) To developing nations only

49. -------- vUrjkZ"Vªh; izfØ;k esa igyk dne

gSA

(A) ykblsal

(B) fons'kh fuos'k

(C) fcØh

(D) fu;kZr

50. vUrjkZ"Vªh; iwath ckt+kj %

(A) miyC/k m/kkj voljksa dks lhfer

djrk gS

(B) fuos'kdksa ds fy, lexz iksVZQksfy;ks

tksf[ke c<+krk gS

(C) fuos'kdksa dks vUrjkZ"Vªh; izfrHkwfr;ksa

dks /kkj.k djds tksf[ke de djus

dh vuqefr nsrk gS ftudh dher

Lora= :i ls pyrh gS

(D) lHkh ds fy, vklkuh ls lqyHk gS

51. Xykscy ckWUM ekdsZV esa dEifu;ksa] ljdkjksa ;k

vU; QeksZa }kjk csps ;k tkjh fd, x, lHkh

ckWUM 'kkfey gS %

(A) vius gh ns'kksa ds Hkhrj

(B) vius gh ns'kksa ds ckgj

(C) yanu ds cSadksa ds fy,

(D) dsoy fodkl'khy ns'kksa ds fy,
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52. --------Kku dk vuqiz;ksx gS tks oSf'od O;kikj

dh lhekvksa dks fQj ls ifjHkkf"kr djrk

gSA

(A) lkaLd`frd ewY;

(B) lekt

(C) izkSn~;ksfxdh

(D) vFkZO;oLFkk

53. lkis{k dkjd cankscLrh dk fl)kUr fdlds

}kjk fn;k x;k gS \

(A) MsfoM fjdkMksZ

(B) ,Me fLeFk

(C) ,Q-MCY;w- rkSlhx

(D) vksgfyu vkSj gSD'kj

54. bl fl)kUr ds vuqlkj] fdlh ns'k ds [ktkus

dh tksr eq[; :i ls lksus ds :i esa gksrh gS]

og mldh lEifRr gksrh gS %

(A) xksYM F;ksjh

(B) fjdkMksZ F;ksjh

(C) O;kikfjdrk

(D) gSD'kj fl)kUr

52. ........ is the application of knowledge

which redefines the boundaries of

global business.

(A) Cultural values

(B) Society

(C) Technology

(D) Economy

53. The Theory of Relative Factor

Endowments is given by :

(A) David Ricardo

(B) Adam Smith

(C) F.W. Taussig

(D) Ohlin and Heckscher

54. According to this theory, the holdings

of a country's treasure primarily in the

form of gold constituted its wealth :

(A) Gold Theory

(B) Ricardo Theory

(C) Mercantilism

(D) Heckscher Theory
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55. ge nks ns'kksa ds chp O;kikj dj ldrs gSa vkSj

;g O;kikj cgqr ennxkj gksrk gS ;fn eky

dh ykxr vuqikr -------- gSA

(A) ?kVrh

(B) vfu/kkZfjr

(C) vyx

(D) leku

56. vUrjkZ"Vªh; O;kikj nqfu;k dh ------ dh

of̀) esa ;ksxnku djrk gSA

(A) vkcknh

(B) eqnzkLQhfr

(C) vFkZO;oLFkk

(D) O;kikj ck/kkvksa

57. --------vk;kr ij yxk, x, dj dks lUnfHkZr

djrk gSA

(A) vk;kfrr dj

(B) VSfjQ

(C) lfClMh

(D) vk;kr dksVk

58. --------lcls iqjkuk vUrjkZ"Vªh; O;kikj fl)kUr

gSA

(A) ns'k lekurk fl)kUr

(B) fujis{k ykxr ykHk dk fl)kUr

(C) mRikn thou pØ fl)kUr

(D) O;kikfjdrk fl)kUr

55. We can trade between two countries

and this trade is very helpful if the cost

ratio of goods are :

(A) Decreasing

(B) Undetermined

(C) Different

(D) Equal

56. International trade contributes to

increase ......... of the world.

(A) Population

(B) Inflation

(C) Economy

(D) Trade barriers

57. ....... refers to the tax imposed on

imports.

(A) Imported tax

(B) Tariffs

(C) Subsidies

(D) Import Quotas

58. .......... is the oldest International Trade

theory.

(A) Country similarity theory

(B) Theory of absolute cost

advantage

(C) Product life cycle theory

(D) Mercantilism theory



10002-B/55 (  19  )

59. The headquarters of UNCTAD is

located at :

(A) Netherlands

(B) London

(C) Geneva

(D) Tokyo

60. .......... means selling the products at a

price less than on going price in the

market.

(A) Quota

(B) Tariff

(C) Subsidy

(D) Dumping

61. ..........was established by a multilateral

treaty of 23 countries in 1947.

(A) WTO

(B) UN

(C) GATT

(D) NAFTA

62. In International trade, IMF stands for :

(A) International Monetary Fund

(B) International Money Fund

(C) International Market Fund

(D) International Monetary Firm

59. vaDVkM dk eq[;ky; fLFkr gS %

(A) uhnjySaM

(B) yanu

(C) ftusok

(D) VksD;ks

60. -------dk vFkZ gS cktkj esa py jgs ewY; ls

de dher ij mRiknksa dks cspukA

(A) dksVk

(B) VSfjQ

(C) lfClMh

(D) Mafiax

61. -------- 1947 esa 23 ns'kksa dh cgqi{kh;

laf/k }kjk LFkkfir fd;k x;k FkkA

(A) fo'o O;kikj laxBu

(B) ;w,u ¼la;qDr jk"Vª½

(C) xSV

(D) uk¶Vk

62. vUrjkZ"Vªh; O;kikj esa] IMF dk vFkZ gS %

(A) vUrjkZ"Vªh; eqnzk dks"k

(B) bUVjus'kuy euh Q.M

(C) vUrjkZ"Vªh; ckt+kj dks"k

(D) vUrjkZ"Vªh; ekSfnzd QeZ

[P.T.O.]
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63. The Agreement on the implementation
of Sanitary and Phytosanitary
Measures (S.P.S. Agreement) by
World Trade Organisation at 1 January,
1995, it is related to execute of
following :
(A) Food safety and animal and

plant health regulations
(B) Animal safety
(C) Implementation of Sanitization

measures
(D) Food safety only

64. Agreement on the Application of

Sanitary and Phytosanitary Measures

is related to which among the

following organisations ?

(A) WTO

(B) TRIPS

(C) TRIMS

(D) IMF

65. Nations conduct International trade

because :

(A) Some nations prefer to

produce one thing while others

produce other things

(B) Resources are not equally

distributed among all trading

nations

(C) Trade enhances opportunities

to accumulate profits

(D) Interest rates are not identical

in all trading nations

63. fo'o O;kikj laxBu }kjk 1 tuojh] 1995

dks LoPNrk vkSj ikni LoPNrk mik;ksa ¼,l-

ih-,l- le>kSrk½ ds dk;kZU;ou ij le>kSrk]

;g fuEufyf[kr ds fu"iknu ls lEcfU/kr gS %

(A) [kkn~; lqj{kk vkSj i'kq vkSj ikni

LokLF; fofu;e

(B) i'kq lqj{kk

(C) LoPNrk mik;ksa dk dk;kZUo;u

(D) dsoy [kkn~; lqj{kk

64. LoPNrk vkSj ikni LoPNrk mik;ksa ds

dk;kZUo;u ij le>kSrk] tks ;g crkrk gS fd

ljdkjsa [kkn~; lqj{kk] i'kq vkSj ikS/kksa ds LokLF;

mik;ksa dks dSls ykxw dj ldrh gSa] fuEufyf[kr

esa ls fdl laxBu ls lEcfU/kr gS \

(A) fo'o O;kikj laxBu

(B) fVªIl

(C) fVªEl

(D) vkbZ,e,Q

65. jk"Vª vUrjkZ"Vªh; O;kikj djrs gSa D;ksafd %

(A) dqN jk"Vª ,d pht+ dk mRiknu

djuk ilUn djrs gSa tcfd vU;

jk"Vª vU; phtksa dk

(B) lHkh O;kikfjd jk"Vªk s a ds chp

lalk/ku leku :i ls forfjr ugha

gksrs gSa

(C) O;kikj ykHk vftZr djus ds voljksa

dks c<+krk gS

(D) lHkh O;kikfjd ns'kksa esa C;kt njsa

leku ugha gSa
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66. vUrjkZ"Vªh;dj.k ds pj.kksa esa lgh Øe dkSu&lk

gS \

(A) ? kj sy w ] V ª kUlus' kuy] Xyk scy]

bUVjus'kuy] eYVhus'kuy

(B) ?kjsyw] bUVjus'kuy] eYVhus'kuy]

Xykscy] VªkUlus'kuy

(C) ?kjsyw] eYVhus'kuy] bUVjus'kuy]

VªkUlus'kuy] Xykscy

(D) ?kjsyw] bUVjus'kuy] VªkUlus'kuy]

eYVhus'kuy] Xykscy

67. IBRD ¼baVjus'kuy cSad QkWj fjdaLVªD'ku

,.M MsoyiesaV½ dks bl :i esa tkuk tkrk

gS %

(A) ,fDt+e cSad

(B) fo'o cSad

(C) vUrjkZ"Vªh; eqnzk dks"k

(D) bUVjus'kuy cSad

68. fuEufyf[kr esa ls dkSu Hkkjr dh izeq[k vk;kr

oLrqvksa esa ls ugha gS \

(A) vk;qosZfnd nok,¡

(B) rsy vkSj isVªksfy;e mRikn

(C) eksrh vkSj dherh iRFkj

(D) e'khujh

66. Which is the right sequence of stages

of Internationalization ?

(A) Domestic, Transnational,

Global, International,

Multinational

(B) Domestic, International,

Multinational, Global,

Transnational

(C) Domestic, Multinational,

International, Transnational,

Global

(D) Domestic, International,

Transnational, Multinational,

Global

67. IBRD (International Bank for

Reconstruction and Development)

also known as :

(A) Exim Bank

(B) World Bank

(C) International Monetary Fund

(D) International Bank

68. Which of the following is not amongst

India's major import items ?

(A) Ayurvedic medicines

(B) Oil and Petroleum products

(C) Pearls and precious stones

(D) Machinery

[P.T.O.]
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69. International trade and domestic trade

differ because of :

(A) Different government policies

(B) Immobility of factors

(C) Trade restrictions

(D) All of the above

70. When did the World Trade

Organisation came into effect ?

(A) March 6, 1996

(B) April 8, 1994

(C) February 5, 1994

(D) January 1, 1995

71. How many members are present in the

WTO ?

(A) 207

(B) 195

(C) 160

(D) 164

72. Where is the headquarters of WTO

located ?

(A) Austria

(B) Geneva

(C) New York

(D) Washington DC

69. vUrjkZ"Vªh; O;kikj vkSj ?kjsyw O;kikj esa vUrj

fuEu dkj.kksa ls gksrk gS %

(A) fofHkUu ljdkjh uhfr;k¡

(B) dkjdksa dh xfrghurk

(C) O;kikj izfrcU/k

(D) mijksDr lHkh

70. fo'o O;kikj laxBu dc izHkko esa vk;k \

(A) 6 ekpZ, 1996

(B) 8 vizSy, 1994

(C) 5 Qjojh, 1994

(D) 1 tuojh, 1995

71. fo'o O;kikj laxBu esa fdrus lnL; ekStwn

gSa \

(A) 207

(B) 195

(C) 160

(D) 164

72. fo'o O;kikj laxBu dk eq[;ky; dgk¡ fLFkr

gS \

(A) vkWfLVª;k

(B) ftusok

(C) U;w;kWdZ

(D) okf'kaxVu Mhlh
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73. Which Article of GATT provides for

principle of Most-Favoured Nation

Treatment ?

(A) Article I

(B) Article II

(C) Article V

(D) Article IV

74. Article XVII of GATT defines :

(A) National Treatment

(B) Quotas

(C) Anti-Dumping

(D) State Trading Enterprises

75. Article VI of GATT covers :

(A) Anti-Dumping

(B) Countervailing Duties

(C) Subsidies

(D) Both (A) and (B)

76. Which of the following is a mode of

dispute settlement in International

trade ?

(A) Good Offices

(B) Conciliation

(C) Panel

(D) All of the above

73. xSV dk dkSu&lk vuqPNsn eksLV QsoMZ us'ku

VªhVesUV ds fl)kUr dk izko/kku djrk gS \

(A) vuqPNsn I

(B) vuqPNsn II

(C) vuqPNsn V

(D) vuqPNsn IV

74. xSV dk vuqPNsn XVII ifjHkkf"kr djrk gS %

(A) jk"Vªh; mipkj

(B) dksVk

(C) ,aVh&Mafiax

(D) jkT; O;kikj mn~;e

75. xSV ds vuqPNsn VI esa 'kkfey gS %

(A) ,aVh&Mafiax

(B) izfrdkjh drZO;

(C) lfClMh

(D) nksuksa (A) vkSj (B)

76. fuEufyf[kr esa ls dkSu vUrjkZ"Vªh; O;kikj esa

fookn fuiVku dk ,d rjhdk gS \

(A) xqM vkWfQlsl

(B) le>kSrk ¼dUlhfy,'ku½

(C) iSuy

(D) mijksDr lHkh

[P.T.O.]
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77. --------dEiuh nqfu;k Hkj esa mRiknu] cktkj]

fuos'k vkSj lapkyu djrh gSA

(A) oSf'od

(B) bUVjus'kuy

(C) VªkUlus'kuy

(D) cgqjk"Vªh;

78. Hkkjrh; cgqjk"Vªh; dEiuh dk mnkgj.k

pqfu, %

(A) fgUnqLrku ;wfuyhoj

(B) ohfM;ksdkWu

(C) dkjfxy

(D) VsLdks

79. --------vUrjkZ"Vªh; O;kikj esa lcls vf/kd

mi;ksx esa tkus okyh Hkqxrku fof/k gS tks

fu;kZrd dks vUrjkZ"Vªh; Lrj ij csps tkus

okys mRiknksa ds fy, Hkqxrku fd, tkus dk

loksZRre vk'oklu iznku djrh gSA

(A) fcy vkWQ ySfMax

(B) lk[k i=

(C) vksiu vdkmUV

(D) Mªk¶V

80. dkSu ,d Hkkjrh; cgqjk"Vªh; dEiuh ugha

gS \

(A) ;wfuyhoj

(B) ,f'k;u isUV~l

(C) fijkey

(D) foizks

77. The ........ company produces, markets,

invests and operates across the

world.

(A) Global

(B) International

(C) Transnational

(D) Multinational

78. Select examples of Indian

Multinational Company :

(A) Hindustan Unilever

(B) Videocon

(C) Cargill

(D) Tesco

79. ......... is the payment method most

often used in International trade which

offers the experter best assurance of

being paid for the products sold

internationally.

(A) Bill of lading

(B) Letter of credit

(C) Open account

(D) Drafts

80. Which is not an Indian Multinational

Company ?

(A) Unilever

(B) Asian Paints

(C) Piramal

(D) Wipro
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81. fuEufyf[kr esa ls fdl izos'k ds rjhds esa

?kjsyw fuekZrk fdlh fons'kh ns'k esa ,d fuekZrk

dks 'kqYd ds fy, ckSf)d lEink tSls isVsaV

vkSj VªsMekdZ dk mi;ksx djus dk vf/kdkj

nsrk gS \

(A) ykblsaflax

(B) vuqcU/k fuekZ.k

(C) la;qDr mn~;e

(D) buesa ls dksbZ ugha

82. fuEufyf[kr esa ls ,d vUrjkZ"Vªh; O;kikj dk

ykHk ugha gS %

(A) j{kk lkexzh dk vk;kr

(B) fons'kh ns'kksa ij fuHkZjrk

(C) vf/k'ks"k mRiknu dk fu;kZr

(D) lLrs dPps eky dh miyC/krk

83. O;kikj uhfr;ksa esa ---------lhek ,d VSfjQ

nj ij vk;kr fd, tkus okys lkekuksa dh

la[;k fufnZ"V djrh gSA

(A) fof'k"V VSfjQ

(B) vk;kr VSfjQ

(C) dksVk

(D) nksuksa (A) vkSj (B)

81. In which of the following modes of

entry in trade, does the domestic

manufacturer give the right to use

intellectual property such as patent and

trademark to a manufacturer in a

foreign country for a fee ?

(A) Licensing

(B) Contract manufacturing

(C) Joint venture

(D) None of these

82. Which one of the following is not an

advantage of International trade ?

(A) Import of defence material

(B) Dependence on foreign

countries

(C) Export of surplus production

(D) Availability of cheap raw

material

83. In trade policies ..........limits specified

the number of goods to be imported at

one tariff rate.

(A) Specific Tariff

(B) Import Tariff

(C) Quota

(D) Both (A) and (B)

[P.T.O.]
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84. Among the following options, which

one is not the main objective of WTO?

(A) To resolve trade disputes

(B) To maintain peace

(C) To improve the standard of

living of people of member

countries

(D) To enlarge product and trade of

goods

85. TRIPs (Trade related aspects of

Intellectual Property Rights) is

administered by :

(A) World Bank

(B) United Nations Organisation

(C) World Trade Organisation

(D) United Nations Conference on

Trade and Development

86. .......... is the precursor of WTO.

(A) NAFTA

(B) GATT

(C) SAARC

(D) EU

87. .......... countries were members of

WTO as on 1st January, 1995.

(A) 151

(B) 164

(C) 104

(D) 139

84. fuEufyf[kr fodYiksa esa ls dkSu&lk fo'o

O;kikj laxBu dk eq[; mn~ns'; ugha gS \

(A) O;kikj fooknksa dks lqy>kuk

(B) 'kkafr cuk, j[kuk

(C) lnL; ns'kksa ds yksxksa ds thou Lrj

esa lq/kkj djuk

(D) eky ds mRiknu vkSj O;kikj dks

c<+kuk

85. fVªIl ¼ckSf)d lEink vf/kdkjksa ds O;kikj&

lEcfU/kr igyw½ le>kSrs dks ------- }kjk

iz'kkflr fd;k tkrk gSA

(A) fo'o cSad

(B) la;qDr jk"Vª laxBu

(C) fo'o O;kikj laxBu

(D) O;kikj vkSj fodkl ij la;qDr jk"Vª

lEesyu

86. --------fo'o O;kikj laxBu dk vxznwr gSA

(A) uk¶Vk

(B) xSV

(C) lkdZ

(D) bZ;w

87. -------ns'k 1 tuojh] 1995 dks fo'o O;kikj

laxBu ds lnL; FksA

(A) 151

(B) 164

(C) 104

(D) 139



10002-B/55 (  27  )

88. What are the three key components of

the WTO ?

(A) A Senate, a judiciary and a

directorate

(B) A Trade Commission, a dispute

Settlement Body and a Council

of Ministers

(C) An Executive apparatus, a

Legislative apparatus and an

enforcement apparatus

(D) A Board of Governors, the

Assembly of members states

and a steering committee

89. What are the two main functions of the

WTO ?

(A) The promotion of free trade

and economic liberalisation

(B) The administration of WTO

agreements and trade councils

(C) The promotion of world peace

(D) The administration of the

WTO's institutional framework

and the promotion of

economic co-operation

amongst its members

88. fo'o O;kikj laxBu ds rhu izeq[k ^?kVd*

D;k gSa \

(A) ,d lhusV] ,d U;k;ikfydk vkSj

,d funs'kky;

(B) ,d O;kikj vk;ksx] ,d fookn fuiVku

fudk; vkSj eaf=ifj"kn

(C) ,d dk;Zdkjh ra=] ,d fo/kk;h ra=

vkSj ,d izorZu ra=

(D) ,d cksMZ vkWQ xouZlZ] lnL; jkT;ksa

dh fo/kku lHkk vkSj ,d lapkyu

lfefr

89. fo'o O;kikj laxBu ds nks eq[; dk;Z D;k

gSa \

(A) eqDr O;kikj vkSj vkfFkZd mnkjokn

dks c<+kok nsuk

(B) fo'o O;kikj laxBu le>kSrksa dk

iz'kklu vkSj O;kikj dkmfUly dk

iz'kklu

(C) fo'o 'kkafr dks c<+kok nsuk

(D) fo'o O;kikj laxBu ds laLFkkxr

<+k¡ps dk iz'kklu vkSj blds lnL;ksa

ds chp vkfFkZd lg;ksx dks c<+kok

nsuk

[P.T.O.]
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90. fuEufyf[kr esa ls dkSu&lk izos'k dk rjhdk

QeZ dks vUrjkZ"Vªh; cktkjksa ds djhc ykrk

gS \

(A) ykblsaflax

(B) ÝSapkbt+h

(C) vuqcU/k fuekZ.k

(D) la;qDr mn~;e

91. izos'k ds fuEufyf[kr rjhdksa esa ls fdl ,d

ds fy, mPp Lrj ds tksf[ke dh vko';drk

gksrh gS \

(A) ykblsaflax

(B) ÝSapkbt+h

(C) vuqcU/k fuekZ.k

(D) la;qDr mn~;e

92. tc nks ;k nks ls vf/kd QeZ ,d ubZ O;olkf;d

bdkbZ cukus ds fy, ,d lkFk vkrh gS tks

dkuwuh :i ls vyx vkSj vius isjsUV ls

vyx gksrh gS] bls dgk tkrk gS %

(A) ykblsaflax

(B) ÝSapkbt+h

(C) vuqcU/k fuekZ.k

(D) la;qDr mn~;e

90. Which one of the following modes of

entry brings the firm closer to

International markets ?

(A) Licensing

(B) Franchising

(C) Contract manufacturing

(D) Joint venture

91. Which of the following modes of entry

in trade requires higher level of risk ?

(A) Licensing

(B) Franchising

(C) Contract Manufacturing

(D) Joint Venture

92. When two or more firms come

together to create a new business entity

that is legally separate and distinct

from its parents, it is known as :

(A) Licensing

(B) Franchising

(C) Joint Venture

(D) Contract Manufacturing
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93. One of the following is International

trade :

(A) Trade between countries

(B) Trade between regions

(C) Trade between provinces

(D) Both (B) and (C)

94. In trade, transportation costs affects :

(A) Pattern of trade

(B) Global supply chain

(C) Boundaries between tradable

and non-tradable goods

(D) All of the above

95. The main promoter of trade

liberalization was :

(A) GATT

(B) NAFTA

(C) CEPTA

(D) CISA

96. The WTO was established to

implement the final Act of Uruguay

Round Agreement of :

(A) MFA

(B) GATT

(C) TRIPS

(D) UNO

93. fuEufyf[kr esa ls ,d vUrjkZ"Vªh; O;kikj

gS %

(A) ns'kksa ds chp O;kikj

(B) {ks=ksa ds chp O;kikj

(C) izkarksa ds chp O;kikj

(D) nksuksa (B) vkSj (C)

94. O;kikj esa] ifjogu ykxr izHkkfor djrh gS %

(A) O;kikj dk iSVuZ

(B) oSf'od vkiwfrZ Ja[kyk

(C) O;kikj ;ksX; vkSj xSj&O;kikfjd

oLrqvksa ds chp dh lhek,¡

(D) mijksDr lHkh

95. O;kikj mnkjhdj.k dk eq[; izorZd

Fkk %

(A) xSV

(B) uk¶Vk

(C) lsIVk

(D) lhvkbZ,l,

96. fo'o O;kikj laxBu dh LFkkiuk m#Xos nkSj

le>kSrs ds vfUre vf/kfu;e dks ykxw djus

ds fy, dh xbZ Fkh %

(A) ,e ,Q ,

(B) xSV

(C) fVªIl

(D) ;w,uvks
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97. The World Trade Organisation (WTO)

was established to implement the Final

Act of ......... round agreement of GATT.

(A) Torquay

(B) Uruguay

(C) Geneva

(D) Tokyo

98. The United Nations Conference on

Trade and Development was

established in :

(A) 1964

(B) 1967

(C) 1969

(D) 1962

99. The principal organ of the United

Nations General Assembly which

deals with the trade, development and

investment issues is :

(A) UNCTAD

(B) European Union

(C) IBRD

(D) ICSID

100. First Conference of 'UNCTAD' was

held at :

(A) Netherlands

(B) London

(C) Tokyo

(D) Geneva

97. fo'o O;kikj laxBu ¼WTO½ dh LFkkiuk

xSV ds ---------- nkSjs ds le>kSrs ds vfUre

vf/kfu;e dks ykxw djus ds fy, dh xbZ FkhA

(A) VkWjds

(B) m#Xos

(C) ftusok

(D) VksD;ks

98. O;kikj vkSj fodkl ij la;qDr jk"Vª lEesyu

dh LFkkiuk gqbZ Fkh %

(A) 1964 esa

(B) 1967 esa

(C) 1969 esa

(D) 1962 esa

99. la;qDr jk"Vª egklHkk dk izeq[k vax tks O;kikj]

fodkl vkSj fuos'k ds eqn~nksa ls lEcfU/kr gS %

(A) vaDVkM

(B) ;wjksih;u la?k

(C) vkbZchvkjMh

(D) vkbZlh,lvkbZMh

100. vaDVkM dk igyk lEesyu dgk¡ vk;ksftr

fd;k x;k Fkk \

(A) uhnjySaM

(B) yanu

(C) VksD;ks

(D) ftusok
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA

A C D

A D

A C D

B

A C D

A D

A C D

B


